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——
Construct the function d(x, y) giving the distance from a point (X, ¥, ) on the
paraboloid =4 e —_l': to the point (2, =5, 1). Then determine the point that
minimizes d(x, ¥). Round all your intermediate calculations to four decimal places and

round your final answer to one decimal place.
The closest point on the paraboloid to the point (2, -5, 1) is approximately
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Round your answers to three decimal places, if needed.
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Find the absolute extrema of the function y
S, py=42xt syt —asx -31y g
on the region bounded by y =X, y =3, and x = 0.

The absolute maximum is .

The absolute minimum is .
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Find the distance between the parallel planes:
Pr:lx -5y +:1=17

and Py: 6x —15y +37=9. p0|nt (0’0’3)

d=

distance from point (0,0,3) to
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Compute the directional derivative of f at the given point in the direction of the indicated
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